
CANOPY CAMPER TO SUIT 
CHEVROLET COLORADO (SB & 

LB)



2

Mounting & Filler Kit - Component Identification (SB)



3

Mounting & Filler Kit - Component Identification (LB)



4

Important Note - Load Bin Preparation:

The first step in this installation, is to gain access to the load bin holes, to be

used for attaching the mounting brackets, shown in the image below.

The front and rear mounting brackets must be installed at this stage, as there

will be no access to the fasteners once the Canopy Camper is seated on the load

bin.

Take note of the sub-assembles, shown on the next page, components from

these sub-assemblies will be needed at this initial stage.



5

Rear Mounting Bracket Sub-Assembly (2 supplied in Mounting Kit)

Front Mounting Bracket Sub-Assembly (2 supplied in Mounting Kit)



6

For the front and rear holes, on both the left hand and right hand side of the

load bin, install the fasteners and other components in the order indicated in the

images below:

Insert an M12x40 hex bolt, flat washer, and 209-CCDC-MNT-DSC-01-00 from

inside the load bin side wall cavity, so that it protrudes through the hole, into

the load bin.

Slide two (2) spacers (209-CCDC-MNT-DSC-01-00) onto the protruding bolt.

Then attach the bracket (209-CCDC-WLD-DSC-01-00). Fasten the bracket in place,

using an M12 flat washer and M12 Nyloc nut. Ensure that the top surface of the

bracket is parallel with the load bin floor.

209-CCDC-MNT-DSC-01-00

A

M12 Flat WasherM12 Nyloc Nut

209-CCDC-MNT-WLD-01-00

B



7

Add M8 nut caps, to finish off the bracket installation. You will now have four

brackets installed at the front and rear, on both the LHS and RHS. You can now

continue with the rest of the fitment.

C



8

1. Rear Filler Panel Assembly.



9

2. Fit lower door frame to Filler Panel Assembly as shown.



10

3. Mount filler panel assembly to load bin as shown.



11

4. Fitting of front filler panels.



12

5. Then mount canopy camper base unit on top of load bin.



13

6. Connect rear filler panel assembly and base unit as shown.

OUTER MOUNTING ON BOTH JOINTS



14

INNER MOUNTING ON BOTH JOINTS



15

7. Fit rear door rebate with Ø4.8 x15 sealed countersink rivets as shown.



16

8. Fit rear door by mounting 4 x Butt hinges to camper frame as shown. Centre

rear door, top to bottom and the hinge centres left to right. Also mount the

door lock to the camper frame.



17

9. Attach hinges and lock to camper frame.



18

Canopy Camper Final Fitment

The tables below show the equipment, i.e. tools and fasteners required to start

the final fitment.

Tools Required:

TOOL

 Ratchet

 T-40 Spline Socket

 13mm Socket

 13mm Ring Flat Spanner



19

1. Rear left hand and right hand mounting bracket assemblies.



20

2. Front left hand and right hand mounting brackets.



21

3. Centre mounting bracket assembly.



22

4. Images below showing rear left & right hand mounting in position.



23

5. Images below showing front left & right hand mounting in position.



24

6. Images showing centre mounting bracket in position.

NB! The Canopy Camper must rest solely on the mounting brackets and 
no load is allowed on the load bin. Once this is completed, the Canopy 
Camper has been installed successfully.


